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Abstract

For a given plane closed folding P, P, ... B,, we constructed similar parallelograms or kites
P;M;P; 1 N; using the sides of polygon PP, ... B, as their diagonals. We explored two different
geometrical constructions.

Firstly, we constructed the triangles A QM;N; with Q being a moving point on the plane.
Considering the centroid G; of these triangles A QM;N;, we constructed the polygon G,G; ... G,.
We got the following results: (1) the rigid body motion. (2) the parallel relation and the similarity
properties of polygon GG, ... G,, and the area invariants between polygon G,G, ...G,, and
polygon P,P, ...E,.

Secondly, we connected all the points M; (N;) to form the “congruence-polygons”, here i is
congruent to @ modulo 7, with a and r being positive integers. Using rk + h + a to express n in
polygon PP, ... B,, we generalized the area invariants between the » kinds of

“congruence-polygons” and P; P, ... P,. The approach was an important breakthrough.
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M MMM MgMgfTE = 67.89 [E>K2
NyN,N3N,NNgf e = 13.86 [E K2
P,P,P3P,PsPflifE = 44.98 JE>K2
AP, PP = 19.64 [EH>{2
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M MMMy MgMeTIETR + NqNoNaNyNsNefty T

=1.00000
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SM1M2M3 Mgt + SN1N2N3 «Nak+1

1+ A2 ,\ s A N\ =
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-2\ 2(%) i+ 2
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Q) =BT 4B 110 4 A=1 p=2 Bwibf2l

R 22

1
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=2 (1 + 1)2 +2 (E) SP1P2P3P4 = ZSP1P2P3P4
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=20
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WF 25.(1 9 #2400 1)
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FeA

‘&f'g] 12 » V} ‘Fi?ﬁél'? %‘F', ka vli-'l? xNk }l’ﬁ"— » R %‘F',
SM1M3M5 + SN1N3N5 =
Xai—1+Axp; + u(Voi = Voi_1) X2it1+A%2i42 + uUWVoisr — Voint)
1 . 141 U\Y2i — YV2i-1 141 U\Y2i+2 — Y2i+1
i=1 |y, . . .
Y2i-1+AY> Yoit1+tAY2i42
== 141 P (g — xpq) R Y 2 — 1(Xgi42 — X2i41)
AXgi—1+Xa; Axzit1+X2i42
—l“_l f— U2 — Y2i-1) —11” B2 — u(Y2ir2 — Y2i+1) N
AY2i—1tY2i AY2iv1tY2it2
—l“_l f+ (g — xpi-1) —11” 2+ p(Xgip2 — X2i41)
X5+Axq Xq1+Ax, Axg+xq Ax1+x5
g TrOn—ys) ==+ ulz—y) ey —uln—ys) =~ ulz—y)
Ys+Ay1 y1+dy, Ays+y1 +y1 Ay1t+y2 +yz
I pulx; — xs) A pulx; — x4) " + u(xq — xs5) " + p(x, — xq)
2 1 2
X2i X2i+2 X2i-1  X2i+1 X1 X2 Xs X1
=(—)+2u2—2|1 2l [ l|+| |+| |
1+2 2\ \ 4 . Y2i  V2i+2 Y2i-1 Y2i+1 Yi Y2 Ys N1
l:
+( 22 ) 1 Z |x2i—1 x2i+2| N X2i x2i+1| N |x1 x1| N |x5 x2|
(14 2)2 2 Y2i-1  Yz2i+2 Y2i  Y2i+1 Y1 N Ys Y2
+(L)2 1 ( 2 X2i-1 x2i+1|+ X2i x2i+2|)+|x1 x2|+|x5 x1|
1+2 2 =Yai21 Yaitr Y2i Y2i+2 Yi Y2 Vs V1
_ 1+)LZ 2 = = A 2 =
- ((1_'_1)2 +2u ) (SP1P3P5 + SP2P4P1) t2 ((1_”)2 —H ) (SP1P4P5P2P3)'
AMMzMsiiei i = 21.59 K2
AN{N3NsHER = 3.26 K2
AP PP R = 12.89 [H>2
APP3Psfyiifli = 13.53 [E}2
P1P4PsP, P Hifi = 17.70 [EK?
142 M;
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(DM MsMgffI ) + (AN;N3NsTE i) = 1.00000
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I - FaEP 2 T ENHE S 1P FA g mod2 B2 e g M

B 26.(7 £ - H2)

— — 2 — — —

(1) SM1M3M5 + SN1N3N5 = (% + 2#2) (SP1P3P5 + SP2P4P6) + 2 ((131)2 - ”2) (SP1P4P5P2P3P6)
— — 2 — — —

(2) SM2M4M6 + SN2N4N6 = ((111)2 + 2#2) (SP2P4P6 + SP1P3P5) + 2 ((131)2 - ”2) (SP2P5P6P3P4P1)

. Gl 25 At gk o

(=) = &%
B 27.(- $7) #2)

— = 1+22 < < 1 <
(1) SM1M3M5M7 + SN1N3N5N7 = ((1+A)2 + 2”2) (SP1P3P5P7 + SP2P4P6P1) + 2 ((1+A)2 - MZ) (SP1P4P5 +

SPz P3PgP; )

A

s s 1422 = = =
(2 SM2M4M6 + SN2N4N6 = ((1”)2 + Zﬂz) (SP2P4P6 + SP3P5P7) + 2 ((1”)2 - ﬂz) SP2P5P6P3P4P7

WP Ao 250 Bt gk o
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SUEE ST R
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() - divinga; n=2k

TIL 28.2k #7240 1) §M1M3M5...M2k_1 + §N1N3N5...N2k_1 15 e ® ff LE

FeA

SM1M3M5---M2k—1 + SN1N3N5---N2k—1
_1lgk ( 1+22 2 2) ( X2i x2i+2| X2i-1 x2i+1|) 2 ( A 2) ( X2i x2i+1|
2 ‘=1< (1+2)? Ton Y2i  Y2i+2 + Y2i-1 Y2i+1 + awnz M Y2i  YV2i+1 +

X2i-1 x2i+2|)
Y2i-1 Y2i+2l/ )
(1) 2k =0 (mod 4) p¥ (bl4e: wf2)~ A3~ L2835~ )

= = 1422 2 = =
SM1M3M5---M2k—1 + SN1N3N5---N2k—1 - ((1+1)2 +2u )(SP1P3---P2k—3P2k—1 + SP2P4---P2k—2P2k) +

2 2\ (& .
2 ((1+A)2 —H ) (SP1P4P5---P2k—4P2k—3P2k + SP2P3P6---sz—spzk—zpzk—1)'

(2) 2k =2 (mod 4) P& (bldc: = #35~ L35~ L g~ .))

= = 1422 2 - -
SM1M3M5---M2k—1 + SN1N3N5---N2k—1 - ((1+1)2 +2u )(SP1P3---P2k—3P2k—1 + SP2P4---P2k—2P2k) +

2 (22— —u2)5
(1+1)2 H P1PyPs..Pok_5P2k—2P2k—1P2P3P6..Pok—4P2k—3P2k"

TIL 29. 2kiF ) > 12 4 2) §M2M4M6...M2k + §N2N4N6...N2k 15 ek ff LE

M. RUL0 8 RIL 08 AApk B0 R R R TR P M Py, TE D
(1) 2k =0 (mod 4) pF (bl4e: wf2) ~ A3~ L2835~ )

s s (1422 2\ (& = 2
SM2M4M6...M2k + SN2N4N6...N2k - ((1+A)2 + 2” ) (SP2P4...P2k_2P2k + SP3P5...P2k_1P1) + 2 ((1+A)2 -

?) (S J )
K ) SP2P5P6---P2k—3P2k—2P1 + SP3P4P7---P2k—4P2k—1P2k :

(2) 2k =2 (mod 4) P& (e = #35~ L35~ L ifa,~ )

s s (1422 2\ (& = 2
SM2M4M6...M2k + SN2N4N6...N2k - ((1+A)2 + 2” ) (SP2P4...P2k_2P2k + SP3P5...P2k_1P1) + 2 ((1+A)2 -

2\ =
K )SP2P5P6---sz—4P2k—1P2kP3P4P7---sz—spzk—2P1'

() -#4it$#2 n=2k+1

T2 30. 2k + 1 i%% P2 4R 1) §M1M3M5...M2k+1 + §N1N3N5...N2k+1 22N

9
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=t
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=+
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B, 2 E I8 chin 852 S R o
(1) 2k+1=1(mod4) F¥ (bi4c: T 835~ 4 B35~ L =835~

- = 144
SM1M3M5"'M2k+1 + SN1N3N5"'N2k+1 - ((1+1)2

+2u )(SP1P3P5 ‘Pak+1 + SP2P4P6 szpl) +

A 2\ ¢
2 ((1+A)2 —H ) SP1P4P5"'sz—spzk—zpzk—1'

(2) 2k+1=3(mod4) B (Hl4c: = 35~ = 835~ L+ - 435~

= ( L +2u )(SP1P3P5 ‘Pok+1 + SP2P4P6 szP1) +

SM1M3M5"'M2k+1 + S1\’11\’31\’5"'1\’2k+1

(142)2
A 2\ (= <
2 ((1+1)2 —H ) (SP1P4P5"'sz—spzk—zpzk—1 + SP2P3P6"'P2k—3P2kP2k+1)'
]
FIL 3L 2k +1 #7524 2) Syumume. My T SNoNaNg. Ny, FF B AR EE
. Z I 28 hin A2 2k o
(1) 2k+1=1(mod4) B (b4 7 835~ 4 £3,~ L+ =435~
= ra _ 1+2? 2 ra ra
SM2M4M6-'-M2k + SN2N4N6-'-N2k - ((1+1)2 +2u ) (SP2P4---P2k—2P2k + SP3P5---P2k—1P2k+1) +
A 2\ (= <
2 ((1+A)2 —H ) (SP2P5P6---sz—spzk—2P2k+1 + SP3P4P7---P2k—4P2k—1P2k)'
(2) 2k+1=3(mod4) B (Hl4c: = 35~ = 35~ L+ - 435~
- - 142
SM2M4M6-'-M2k + SN2N4N6-'-N2k = ((1+1)2 +2u )(SP2P4 Pak—2P2k + SP3P5 Poj— 1P2k+1) +
A 2\ ¢
2 ((1+1)2 —H ) SP2P5P6---sz—4P2k—1P2kP3P4P7---sz—spzk—2P2k+1'
]
i
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(1) ((iij) F2u?) KA BHP 5E 0 L WG R T 2

@) 2(ghm—#2) - BHP S EY (T - LF) X3 BHF 5B - 65 gL

RSB TAR 3 BB | HEER $ S B G RAHR U nBEs T A

Bl 5B 3 AR

AP RN BRRARAK o @ L - LBk
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IA
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2k+h+a #3244 a> H? 0<h<
SMaMa+2Ma+4---Ma+2k + SNaNa+2Na+4---Na+2k m#};
- %5 kLo dcpE

SMaMa+2Ma+4---Ma+2k + SNaNa+2Na+4---Na+2k

1+
_<(1+/1)2

s ‘ )
t2u > SPaPa+2Pa+4---Pa+2k—2Pa+2k + S1E’zz+1Pzz+3Pa+5--JDa+2k—1Pa+2k+1 +

A 2\
2 ((1+1)2 —H SPaPa+3Pa+4---Pa+2k—4Pa+2k—1Pa+2kPa+1Pa+2Pa+5---Pa+2k—1Pa+2k—2Pa+2k+1'

%k LA #pE

SMaMa+2Ma+4---Ma+2k + SNaNa+2Na+4---Na+2k

1422 5\ (= <
(1+ 1)2 t2u (SPaPa+2Pa+4---Pa+2k—2Pa+2k + S1[’a+1Pa+3Pa+5---Pa+2k—1Pa+2k+1) +
2(—2— - ©?) (S +5S )
(1+1)2 PaPa13Pgt4--Pat2k-3Pa+2kPa+2k+1 Pat1Pa+2Pa+s--Pat2k-aPa+2k—1Pa+2k/"

=825 613 8 (kha) = (212)  (kha) = (3,0,1)

(1) (k,h,a) = (2,1,2)

= = _ 1+2 2\¢c
SM2M4M6 + SN2N4N6 - ((1+1)2 + 247 )(SP2P4P6 + S1[’31[’5197) t2 ((1+A)2 —H )SP2P5P6P3P4P7'

) (k,p,a) = (3,0,1)

= = 1+1 2\ (= -
Smymamem, + S NN, = ((1+/‘1)2 + 2u ) (SP1P3P5P7 + SP2P4P6P1) + 2 ((1+/‘1)2 —u ) (SP1P4P5 + SP2P3P6P7)-
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3.3.2 mod 3

AT ) R et G T - SR

32 32.3k+h+a #7344k a-H? »0<h<2-1<a<3)
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m”ﬁ ré"\iﬁ%ff\l

el

+ Sy,
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. ¥ = B%#c k-h foi 3 4¥k a g o & 3k+h+a #a5¢% > 0<h<27*
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~0si<ts wn k=Y
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ST - Bk B SR E A R 4 Esi- & FB T 3k+h+a 35
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3. £ AU Bl EEF SN T NFE A fra,T;;a IDIE/ R ignjﬁn%, ignﬁrf,ﬁ_, ;\%n;,ﬁfbg;&x ,

(1) k & #pF
SMaMs+al"16+a---1"1a+3k + SNaNa+3Na+6---Na+3k

_(1+F

Tt ) (S S )
(1+ 1)2 +2u ) SPaPa+3Pa+6--JDa+3k—3Pa+3k + SPa+1Pa+4Pa+7--JDa+3k—2Pa+3k+1 +

Y N
2 ((1 + )2 K )SPaPa+4Pa+6---Pa+3k—6Pa+3k—2Pa+3kPa+1Pa+3Pa+7---Pa+3k—5Pa+3k—3Pa+3k+1

(2) k i H¥kpE
SMaMs+al"16+a---1"1a+3k + SNaNa+3Na+6---Na+3k

_(1+F
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YoR 150 A 4 BA5 5 b o
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die mod3 #FHgR > fl*e BRE r-k-ha KE7ELPHP FE3) &8
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141 + ﬂ(ykr+a+1 - ykr+a) 141 + ﬂ(ya+1 ya) 4
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Sokriatl Ckrie —x =L u(Xger — X
141 ”(xkr+a+1 kr+a) 141 ﬂ( a+1 a)
AXkr+atXkr+a+1 Axg+Xg41
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2 =1\ \@+1)2 Yri-r+a Yri+a Yri—-r+a+1  Yrita+1 (1+2)2

26

+ ﬂ(yri+a+1 - yri+a)

- xri+a)

+



Xri-r+a+1  Xri+a

Xri-r+a xri+a+1|

1+42 Xkr+a+1  Xa+1
2 2
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=1.00000
g A
(( (: il) + 2.#2).((AP|PSP9EUE$§§) + (APzPaPmE"JE?EQ))) + ((2( (1+2)? _#2)).P]P6P9P2PSPIOEUE$§)
W4 41
M
e 11 Pll
(AMMaMofTTEIFE) + (ANNN ol HifE) =1.00000

2
( (: il) +2:u ) ((APJ’(,PIOE’]E%) (APZP7PIIE’]E%))) (( ((1 T l)z —u )) P2P7P|0P2P5PHE’:IEF)

W4 42

/AN B17: 4+ =823 mod4 prgE s g e

28



»

¥ 37 »Tmodr, (g3 23 a 7 RE
APEEAT e BEB r ok hoa kA A EAHE 5870 58755 rk+hta if
A500<h<r—-1-1<a<r rk+h+a BB ELEEFETF r A7 i R r A

B §n/ NN 213 14 §’1f °

TIL 35 ¥ A4 T (rk+h+a E o r g a-d? s0<h<r—-1-1<a<r)

C C 2

B s N
el
SMaMa+rMa+2r---Ma+(k—1)rMa+kr+SNaNa+rNa+2r---Na+(k—1)rNa+kr G e G fp LR

AT
TR BRE k-~ h foiic v bRl a Gfpd o P RIEF AN EFAEY AL

R S B end B A e ARk > R T - b2 B o

SMaMa+rMa+2r---Ma+(k—1)rMa+kr + SNaNa+rNa+2r---Na+(k—1)rNa+kr -

AXri—r4a+1tXri—r+a AXriva+1tXrita
X 141 + ”(yri—r+a+1 - yri—r+a) 141 + ﬂ(yri+a+1 - yri+a)
2 =1\ | Wricreat1tVri—ria AYriva+1tVrita
— U(Xpicrias1 = Xricrra) T — 1 (Xpirq+1 — Xrita)
1+ 1+4
AXri—r+a+1+tXri—r+a AXriva+1tXrita
- ”(yri—r+a+1 - yri—r+a) - ﬂ(yri+a+1 - yri+a)
1+2 1+4 +
AYri—r+a+1tYri-r+a AYriva+1tVrita
141 + ”(xri—r+a+1 - xri—r+a) 1 + ﬂ(xri+a+1 - xri+a)
AXkr+a+1tXkr+a Axgy1tXq
141 + UVkr+a+1 = Yir+a) 141 + uVar1 — Ya) N
Air+a+r1tVir+a AVa+1+Ya
T ﬂ(xkr+a+1 - xkr+a) BETTEE ﬂ(xa+1 - xa)
AXkr+a+1tXkr+a Axgy1tXq
141 — UVkr+a+1 = Yir+a) 111 U (Var1 — Ya)
Air+a+r1tVir+a AVa+1+Ya
T U(Xprraa1 — Xirra) T gpg T H (e — %)
B 08
SMaMa+rMa+2r---Ma+(k—1)rMa+kr + SNaNa+rNa+2r---Na+(k—1)rNa+kr =
k ( A2 n ﬂz) Xri-r+a+1 xri+a+1| ( 1 n 2) Xri-r+a Xrita ( A
=1\ \@+2)2 Vri-r+a+1  Yrita+1 (1+2)2 Vri-r+a DYrita (1+2)2

Xri-r+a+1  Xrita

Xri-r+a xri+a+1|
Yri-r+a Yrita+1

A9 Xkr+a+1  Xa
+ ((1+1)2 H ) ( Ykr+a+1 Ya

)+ (i) e e+ (s

Xkr+a xa+1|)
Yikr+a Ya+1

#)(

ﬂz) Xkr+a Xa
Ykr+a Ya

Yri-r+a+1  Yri+a

29




P 232 33 5 AP A W3t
(D) k % 0% fcp

SMaMa+rMa+2r---Ma+(k—1)rMa+kr + SNaNa+rNa+2r---Na+(k—1)rNa+kr
2

— 21¢

=2 (1+ )2 tHu SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

2\
: ((1 + )2 s ) SPaPaJ'rPa”r"'Pa+(k—1)rpa+kr +

A 2\
((1+1)2 —H SPaPa+r+1Pa+2rPa+3r+1Pa+4r'"Pa+krPa+1Pa+rPa+2r+1Pa+3rPa+4r+1---Pa+kr+1'

(2) k 5 % B

SMaMa+rMa+2r---Ma+kr + SNaNa+rNa+2r---Na+kr

2
— 21¢
=2 ((1 + )2 )SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

2\
: ((1 + 1)? TH ) SPaPaJ'rPa”r"'Pa+(k—1)rpa+kr +

A 2 ~ —_—
((1+1)2 —H SPaPa+r+1Pa+2rPa+3r+1Pa+4r"'Pa+kr+1 + SPa+1Pa+rPa+2r+1Pa+3rPa+4r+1---Pa+kr‘

Mup,

(A M, MsMgE’\]ﬁ%) + (A N N5N9E’JEE)

7 1 yl
(2-( R + #2))-(AP2P6PIOEUEE) + (2(m + ﬂz))-(APIPngﬂ@ﬁ%) + (2(m - ﬂz))-PlpﬁPngPstE@ﬁE

B 4 41
/A B 18: -+ = #3 mod4 prgk %A -

=1.00000

30



4. 3Hh 2 R

41 € 3852 e P REDRT

AR E - e LT E e PR e G A RE o T e L AN EL B
PiP,Py..P, s B2 T Fe N8 FA R 51T n BApNT T fA 8 A

P1M1P2N1 ~ P2M2P3N2 ~ P3M3P4_N3 ~

v

*

M Pnanan" FB"" é’i’,g‘!« Q ’ é‘ AQMka ﬁjji_-_ NN

Ge (k=123,..,n) BI3% @ S5 16 0E < 5 875 G,G,Gs ... Gy 0 A EE o

1
A BT _
i 587 566,656 = 9 (SP2P4...P2k +Spipypyy T ZSP1P2P3...P2k)

1
. & 2
+ .02 BTy — _(5' S )
B~ 7‘§ 7 9G1G2G3..G41 g \PP1P3..Pa11PaPy- Py 2 P1PyP3..Pok 41

d :ri’?’ 16?-/1T'3;E’:j—i___:u %1 173 616263 Gn‘iﬁg‘?‘lf’?‘l éqj PkMkPk+1Nk éf-‘f’ﬁlg !
AP 16 8 17 Y 33 -

o

%

P edE @I B F (BN - er B765 4R ) R BT GER
[2]5h% 44 2 45 F )

2 AC < K'AABC~A AKD~A CKD
ﬁ"ji_-_'u Gl N Gz N G3 E%%]Q\‘E’f"_:_ ﬁ..l'[j AGleG3 64%%{*9;113 ABCD E’f"’i‘ /43\_7\" °

4o@) 19-1 &%~ BH3, ABCD'L & AB DL

B C

/A [ 19-1

(]

AT EEDES FEV e FET e FA PMPr N £B > FIP0F 1B ERT G fa)

PeMyPyyi Ny 331 %38 PPy 4oB] 1920 2 2 w#i¢ A ABK ~ A BCK ~ A CDK ~ A DAK

=1 \N 2 e ~ s
LS Gs Gy~ G Gy o RIpIEF 160 S656,656, = 35101102103104 ' B GsGyG3G, T Fw iAo

()

-F‘-{}ﬁ AABC ﬁ"ji_-_'\‘*‘ Gl’_q:]i% K t-LAC ,_l‘ ’L:Li_«'"( 65‘64‘61 ’\/’i’f"%ﬁl’q‘]ﬂi 5616263

31



12 1 . e - e s e arse L i 2
E(;SP1P2P3P4) = 5 SPiP,PsPy ° AR TR TLEAEFTIRFEM  HoER o TR0

nng_»é"l *rs;kf o
42 85 B2 T e A RE R

Fﬁ"’%)] HUEF s AFER N N2REPE F5 (gt - — S ARG L b4 fledn

i) o FH TAEd K F9 Io 2 Fpk  bIBoa B8 AL A B S - 375
W2 T HETATRA o R B AR 02 2 45 AT A e R B A B N2 R

B K A, T B T o ES K—2 Bz 47 B % 2 &Sl B o f o @ pank

AT GER[3]% 132 147 ) -

KSBIET > SBEMFSa, ~a, ~a, ~ -~ a, > ZINEKRTFEG - 6,6, 6,
I~ RFPAE K8 T #5528 20 m ¢ n EEBIUE K &7 B RGET K8 - Hi
(1) KB T B K& T AL ©
KT fiRE ]_ ﬁ(a,(a, siné, +§a;ai+1 sind,,)

i=1 ’

K%ﬁgrﬁ% - K-2 ) K-l )
Z{(_l)h—l a l: Z(_l)i ‘a, ‘Sin(aﬁl Foeqt 6])i|}

J

@)

(aga, sin@, +KZ-I:a,,a siné,,,)
(DERELLFGER © AR 1 N

4‘%{(-1)”'3,- _{E(_l)f ‘a, -Sill(am +...+9’)}}
K T 8L K& T AR EL i A TR L e M OS8R Som AN TR -
A RI20: B S HE R £ FE ] R

P o~ R0 F o~ AR ket S st A 2 K B T e BRE R fop
R Sl Bt P A RAP R BB A BERRT S B e R S BT e o A4 A
SR o

TR AFL mod | PpE S B G R FRE 4 A= B2 p=00 B rBF2 s

c]n\v
ﬁn-

Fyehg Ak (prEhsifa) e @A

?22??5'1(@:‘3[”6:7%"
(1) % K &%k
. m? +n?\ _ mn _ _
r s 7% =\ T+ 2 SP1P2P3...PK + (—) (SP1P3P5---PK—1 + SP2P4P6---PK)

(m+n) (m+n)?
(2) % K s+

. m? +n?\_ mn _
r's i = n+n)? Spyp,ps P T (m) (Sp,psPs...PiP2PPe..PK 1)

32



S. K

15875 PPy . Py 0 54k SRS BEEHES REHLA fEe 84 0 TR T e i
AR LE 2] PMicPisaNi 0% B3 BHEWD § LBz - BB Q i 2 ) A QMNy
Bz EHES G A TEC S HA GGy Gy 2 0 H9F B M, 218 N, B
modr» A Bk a 98 (a=1,2,..,r) g 27 (2p) hTprg 382 > 55 7

a2

I

51 £ %1835

FAEI A T A A E e S AR A REREC A0

BIEE3E S > 03 GGy | TyTisr T 71 (T 5 PePryr 27 ) 3d pipi & o 582
LA S SR

DS RS S D E s 5 A B S e M G 2 BN E s § A
B R 5 GAnG ff LEM G o

_ 1. _ _ _
S616,Gs.Gop = 9 (SP2P4...P2k +Sppypyy T ZSP1P2P3...P2k)

_ 1, _ _
5616263---sz+1 = 6 (SP1P3---P2k+1P2P4---P2k + 2‘S‘P1P2P3---sz+1)

T

AR E S A G T R R TN A B3 T R el

A B2l Ee g hd e § A

FoEupi TEAHG  hE e 5 AFET YRR R FREC S L

33



N

3

o

A0 2 s E e SN R S A e B

_ 4 1422 \_ A _ _
561626562 = g A+ 2 Sp.p,Ps Py T (m) (Spipsps..pries T Spopype.pyi)

_ 4((1+2% )\ A \=
S616263---sz+1 = 6 (1 + 2)2 SP1P2P3"'P2k+1 + (m) SP1P3P5---P2k+1P2---P2k

BARAPL AR S s B S A e S s e B BRFIRT A

FhRFFEE -
52 f7w FA5 T R B S )

(1) B85 #A5enF w 6 f L

£XFw 7)) PMPry N 03 & 285 Qy, kaMk =2QuPers & MiQu, =
PPPiyy o VP ARETR T o 43 1878 1 18 ¥t 4T B My 278 Ny P~ mod 10 7% IE
oA SRS udik e 1 Bt (2P0 9 TEeBh 5 87 Syom oy, +
§N1N2N3...N2k dm ff TE M RS o

e 2 % 31% mod 2 ¥ mod 3 hlFA) 0 B EF IR mod 2 chprEk s AT e
B2 (#4140 2~ w4 14 2) P mod 3 sk fA5F i

Ao Aot - komod r g 2r b FAPRTERAT G AR B RA Y

A B22 0 prE A

AFTHEN- BTG ARDERZ It e BRE r-k-hra K& 7 EZLHHF n &

34



il FliRkEbE 5 n=rk+h+a #3,-2¢Y 0<h<r—-1-1<a<r-app
FHR rk+h+a BB ERER G r BV o HRED r A prEh g e prel f A
TR PER A A BT R S A T % mod r hprEE S RS gEA o |

Flr pEAIRnE Tz > B PIEFONEKD modr T RAR a prEES A2 G v om
OB A .
(A) k 5
+ Sy,

SMaMa+rMa+2r---Ma+(k— DrMa+kr Ng+rNa+2r--Nay@-1)rNa+kr

1+12 2 = =
- ((1+1)2 +2u SPaPa+rPa+2r---Pa+(k—1)rPa+kr + SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

A 2\
((1+1)2 —H ) SPaPa+r+1Pa+2rPa+3r+1Pa+4r'"Pa+krPa+1Pa+rPa+2r+1Pa+3rPa+4r+1---Pa+kr+1'
(B) k %+ ¥

SMaMa+rMa+2r---Ma+kr + SNaNa+rNa+2r---Na+kr

1+12 2 = =
- ((1+1)2 +2u SPaPa+rPa+2r---Pa+(k—1)rPa+kr + SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

A 2 ~ —_—
((1+1)2 —H ) (SPaPa+r+1Pa+2rPa+3r+1Pa+4r"'Pa+kr+1 + SPa+1Pa+rPa+2r+1Pa+3rPa+4r+1"'Pa+kr)’

Apie- HFIRF B G 0 K AT B B R

»
>
—\

N G LY P s -
((1+A)2+2u) A LY 2o

5

\m
fek

) A BHBPE IE F- B3

Iy

A
,2((“@2—#2) b - BHP S E
WV EHRE B OGHS TAR r+ 1 B r— 1 FFRER S B I EUA LN e

A ThRe r— 1 B r+ 1, #FERER -
(2) BroE3 FA5en s

bR SR LA RS XA RS SR S I AN P N[

B &3] £ /1=§ #ou=0 &> modl 2 25> ¥ @3] :
v o _ (mZ+n?\ g m
K 5t#: T 7% - ((m+n)2) SP1P2P3...PK + ((m+n)2)( PiP3Ps..Pg_y T SP2P4P6 PK)

m2+n? m

fr = ((m+n)2)§P1P2P3...PK + ((m+n)2)( PLP4Ps..PKP,PsPe..Pic_1)

K z+#&: I

=1

35



5.3 fﬂﬁf#_fg‘f g Bk % 184

£ 45875 n=rk+h+a #3,>27 0sh<r-1-1<asr-b PP, #+#
B XA PMpPiyi Ny > =5 25782 modr T 4k a cppr2h 5 @752 F oo BN BN
(A) k 5 & dcp

SMaMa+rMa+2r---Ma+(k—1)rMa+kr + SNaNa+rNa+2r---Na+(k—1)rNa+kr
2

— 21¢

=2 (1+ )2 tHu SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

1 _
—_ 2
: ((1 + )2 s ) SPaPaJ'TP‘”ZT"'Pa+(k—1)rpa+kr +

A 2\
((1+1)2 —H ) SPaPa+r+1Pa+2rPa+3r+1Pa+4r'"Pa+krPa+1Pa+rPa+2r+1Pa+3rPa+4r+1---Pa+kr+1‘
(B) k & & dkcp

SMaMa+rMa+2r---Ma+kr

+ Sy,

NayrNayor--Naykr

2
— 21¢
=2 ((1 + )2 tHu )SPa+1Pa+r+1Pa+2r+1---Pa+(k—1)r+1Pa+kr+1 +

1 _
—_ 2
: ((1 + 1)? TH ) SPaPaJ'TP‘”ZT"'Pa+(k—1)rpa+kr +

A 2 ~ —_—
((1+1)2 —H ) SPaPa+r+1Pa+2rPa+3r+1Pa+4r"'Pa+kr+1 + SPa+1Pa+rPa+2r+1Pa+3rPa+4r+1---Pa+kr‘
FRLDE > BT Fe g FUEEOE S FN R e i LEY Pz ¥ K

G#cE kY LR B EEaRE o

»
>

: 22 L s T
- 2(GE ) K- BHP B A ms Ty

)

- 1 - 4 . A 2 g
= 2(ghE ) K- BHP S EY . Ams Ty

»
>

. 2 , s s o o e
= ’2((1+A)2_”2) K -BHP IR (F-LF) A BHFIE 5 B 3

Eagenig o TAp r—1- pr r+ 1, HFHHER -

36



6. 5% T

Rt H s 2L (2015) 0 P R —ATERLE 5T B G poa g

dok

[1]
EXxRY [ ERE > B 2@ g

[2] 7 4% (2004) 2§27 P - Sw B2 6 fi i o - e BEH 28 £ 53 HBTAST

[31 B3 sty ~ k3 7~ £ E (2012) « dglsert = b — S BARG F BAfeR g - 2R

S EPERTE R R e

37



3% ] 010036

£

S

[a-

N=

NN

-4

21 ¥

2

|

2

&

2

Vs

% > mod 2 ¥ 4

A

NN

B2 rK+h+ta > fifr4ha oL 7w f

2
2
J

aERN SEE S

N

il
//ﬁ

ﬂ]fr'ff‘ £



	010036-封面
	010036-作者簡介
	010036-本文
	摘要
	Abstract
	1. 簡介
	2. 預備知識
	3. 研究內容
	4. 討論與應用
	5. 結論
	6. 參考資料

	010036-評語

